## **CHANGE ORDER** No. 8 Dated: 11/15/22 C19005 **ENGINEER'S** Project No.: **OWNER'S** Contract No.: 189031 Project: RIVERBEND ELEMENTARY SIDEWALKS STATE PROJECT NO. H.007532 TURNER & TURNER CONTRACTING, LLC CONTRACTOR: January 20, 2018 Contract For: Sidewalks and Drainage Contract Date: TURNER & TURNER CONTRACTING, LLC To: Contractor You are directed to make the changes noted below in the subject Contract: City of West Monroe Owner Staci Albritton Mitchell - Mayor By: November 15, 2022 Dated: As-built adjustment of installed pipe quantity Nature of Changes: Enclosures: Change Order #8 Detail These changes result in the following adjustments to the Contract Price and Contract Time 964,630.66 Contract Price Prior to This Change Order: -2,330.83 Net (Increase) Resulting from this Change Order:

Current Contract Price Including this Change Order:

962,299.82

Contract Time Prior to This Change Order:		<b>353</b> Days
Net (Add) Resulting from This Change Order:		<b>0</b> Days
Current Contract Time Including This Change Order:		Days
The Above Changes Are Recommended:		S. E. HUEY CO.
		Project Engineer
	Dve.	
	Ву:	Brad Anzalone, P.E.
	Date:	
The above Changes Are Approved As Recommended:		City of West Monroe
The above Changes Are Approved As Recommended:		City of West Monroe Owner
The above Changes Are Approved As Recommended:	By:	Owner
The above Changes Are Approved As Recommended:		Owner Staci Albritton Mitchell - Mayor
The above Changes Are Approved As Recommended:	By: Date:	Owner
The above Changes Are Approved As Recommended:  The above Changes Are Accepted:		Owner  Staci Albritton Mitchell - Mayor  Turner & Turner Contracting, LLC
		Owner Staci Albritton Mitchell - Mayor
		Staci Albritton Mitchell - Mayor  Turner & Turner Contracting, LLC

Project:	RIVERBEND ELEMENTARY SIDEWALKS	IVERBEND ELEMENTARY SIDEWALKS Owner: CITY OF WEST MONROE, LA							
Job #:	189031		Change Ord		Co	ntract Date: January 20, 2018			
Date of Comp			Amount of C				Contrac	t Days:	
Original:	N/A	Current:	\$964,630.			Current		353	
Revised:	N/A	Revised:	\$962,299.			Revised		353	
14	Contract Items			Current:	Г		Change O	rder No. 8	
Item	Itom Description	Unit	Quantitu	Linit ¢	Eutopoion	Quantitu	Difference	Futoncian	
No.	Item Description Clearing and grubbing	Unit LS	Quantity 1.00	Unit \$ \$16,112.00000	Extension \$16,112.00	Quantity 1.00	Difference 0	Extension \$0.00	
2	Removal of structures and obstructions	LS	1.00	\$2,520.00000	\$2,520.00	1.00	0	\$0.00	
3	Removal of headwall	EA	1.00	\$1,651.20000	\$1,651.20	1.00	0	\$0.00	
4	Removal of asphalt drives	SY	125.00	\$22.01430	\$2,751.79	125.00	0	\$0.00	
5	Removal of asphalt pavement	SY	122.67	\$19.33960	\$2,372.39	122.67	0	\$0.00	
6	Removal of concrete combination curb	LF	181.20	\$12.44400	\$2,254.85	181.20	0	\$0.00	
7	Removal of concrete walks and drives	SY	422.80	\$19.57500	\$8,276.31	422.80	0	\$0.00	
8	Removal of pipes (side drain) (12" RCP)	LF	97.00	\$18.49730	\$1,794.24	97.00	0	\$0.00	
9	Removal of pipes (side drain) (18" CMP)	LF	0.00	\$45.62660	\$0.00	0.00	0	\$0.00	
10	Removal of pipes (side drain) (42" RCP)	LF	36.00	\$11.16880	\$402.08	36.00	0	\$0.00	
	Removal of pipes (side drain) (48" CPP)	LF	22.00	\$31.10910	\$684.40	22.00	0	\$0.00	
12 13	Removal of portland cement concrete pavement	SY SY	15.50 17.50	\$19.57510 \$21.20440	\$303.41 \$371.08	15.50 17.50	0	\$0.00 \$0.00	
13	Removal of surfacing and stabilzed base Borrow	CU	875.00	\$21.20440	\$371.08	875.00	0	\$0.00	
15	Cleaning existing ditches	LF	0.00	\$25.20000	\$13,249.33	0.00	0	\$0.00	
16	Temporary hay bales	EA	16.00	\$15.72000	\$251.52	16.00	0	\$0.00	
17	Temporary silt fencing	LF	330.00	\$2.08290	\$687.36	330.00	0	\$0.00	
18	Class II base course (4" thick)	SY	0.00	\$50.63280	\$0.00	0.00	0	\$0.00	
19	Non-mainline traffic maintenance surfacing (aggregate)	CY	14.10	\$110.69300	\$1,560.77	14.10	0	\$0.00	
	Pavement patching (12" minimum thickness)	SY	310.81	\$98.16030	\$30,509.20	310.81	0	\$0.00	
21	Full depth patching of jointed concrete pavement (8" thick)	SY	31.10	\$88.57320	\$2,754.63	31.10	0	\$0.00	
22	Storm drain pipe (15" RCP/PP)	LF	70.50	\$31.44800	\$2,217.08	70.50	0	\$0.00	
23	Storm drain pipe (18" RCP/PP)	LF	38.00	\$33.26410	\$1,264.04	38.00	0	\$0.00	
24 25	Storm drain pipe (24" RCP/PP) Storm drain pipe (30" RCP/PP)	LF LF	370.17 369.00	\$43.74390 \$52.97350	\$16,192.68 \$19,547.22	370.17 325.00	-44	\$0.00 (\$2,330.83)	
26	Storm drain pipe (30 RCP)PF)	LF	40.00	\$305.43500	\$19,347.22	40.00	0	\$0.00	
27	Storm drain pipe (72 RCP) Storm drain pipe (30" Equiv. RCPA)	LF	654.00	\$56.32590	\$36,837.14	654.00	0	\$0.00	
28	Storm drain pipe (30" Equiv. RCPA)	LF	504.00	\$268.37350	\$135,260.24	504.00	0	\$0.00	
29	Storm drain pipe (96" Equiv. RCPA)	LF	24.00	\$948.04350	\$22,753.04	24.00	0	\$0.00	
30	Relaying pipe (24" RCP)	LF	0.00	\$42.11760	\$0.00	0.00	0	\$0.00	
31	Storm drain pipe (30" CMP)	LF	0.00	\$17.90000	\$0.00	0.00	0	\$0.00	
32	Cleaning existing pipes	LF	25.00	\$12.99200	\$324.80	25.00	0	\$0.00	
33	Trench excavation safety protection	LF	0.00	\$7.73290	\$0.00	0.00	0	\$0.00	
34	Junction boxes	EA	1.00	\$25,598.02000	\$25,598.02	1.00	0	\$0.00	
35 36	Catch basin (Remove and replace frame and cover)	EA EA	2.00 17.00	\$1,075.76000	\$2,151.52	2.00 17.00	0	\$0.00 \$0.00	
37	Catch basins (CB-01) Catch basins (CB-02)	EA	1.00	\$2,489.74660 \$2,746.14000	\$42,325.69 \$2,746.14	1.00	0	\$0.00	
38	Catch basins (CB-07)	EA	5.00	\$3,331.26400	\$16,656.32	5.00	0	\$0.00	
39	Catch basins (CB-08)	EA	3.00	\$6,290.26660	\$18,870.80	3.00	0	\$0.00	
40	Catch basins (CB-09)	EA	1.00	\$4,093.84000	\$4,093.84	1.00	0	\$0.00	
41	Concrete walk (4" thick)	SY	982.50	\$53.31650	\$52,383.46	982.50	0	\$0.00	
42	Concrete drive (6" thick)	SY	464.10	\$64.70250	\$30,028.43	464.10	0	\$0.00	
	Handicapped curb ramps	EA	4.00	\$2,429.83500	\$9,719.34		0	\$0.00	
44	Combination concrete curb and gutter	LF	189.70	\$57.65000	\$10,936.21		0	\$0.00	
45	Riprap (30 lb., 14" thick)	SY	311.44	\$33.77950	\$10,520.29		0	\$0.00	
46	Geotextile fabric	SY	192.00	\$9.09010	\$1,745.30	192.00	0	\$0.00	
47 48	Temporary signs and barricades	LS CY	1.00	\$11,462.50000 \$85.90130	\$11,462.50 \$47.111.71	1.00	0	\$0.00	
48	Bedding material Mobilization	LS	548.44 1.00	\$85.90130 \$71,420.84000	\$47,111.71 \$71,420.84	548.44 1.00	0	\$0.00 \$0.00	
	Hvdro-seedina	AC	0.67	\$3,910.44770	\$2,620.00	0.67	0	\$0.00	
51	Construction layout	LS	1.00	\$2,088.00000	\$2,088.00	1.00	0	\$0.00	
52	Tree and stump removal (under 36" diameter)	EA	4.00	\$1,965.00000	\$7,860.00	4.00	0	\$0.00	
53	Tree and stump removal (over 36" - 48" diameter)	EA	3.00	\$2,620.00000	\$7,860.00	3.00	0	\$0.00	
54	Saw-cutting asphalt concrete pavement	INLF	1180.00	\$1.29050	\$1,522.79	1180.00	0	\$0.00	
55	Saw cutting asphalt concrete pavement over PCCF	INLF	673.00	\$1.29050	\$868.51	673.00	0	\$0.00	
56	Saw cutting portland cement concrete pavement	INLF	590.50	\$1.29050	\$762.04	590.50	0	\$0.00	
57	Cleaning exising catch basin	EA	1.00	\$394.40000	\$394.40	1.00	0	\$0.00	
58	Trench drains (sidewalk)	LF CA	35.00	\$419.54200	\$14,683.97	35.00	0	\$0.00	
59 60	Wheel stops Drainage structure (CB-02 modified)	EA	1.00	\$111.00000 \$5,600,07120	\$111.00 \$45.527.77	1.00	0	\$0.00	
60	Drainage structure (CB-02 modified)  Drainage structure (CB-08 modified)	EA EA	8.00 1.00	\$5,690.97130 \$9,691.17000	\$45,527.77 \$9,691.17	8.00 1.00	0	\$0.00 \$0.00	
62	Drainage structure (CB-00 modified)  Drainage structure (special junction)	EA	1.00	\$44,794.62000	\$44,794.62	1.00	0	\$0.00	
63	Remobilization	LS	1.00	\$27,140.55	\$27,140.55	1.00	0	\$0.00	
64	Removal of Pipe (Side Drain)	LF	57.00	\$15.00	\$855.00		0	\$0.00	
65	Removal of Concrete Catch Basin	EA	2.00	\$2,960.27	\$5,920.54	2.00	0	\$0.00	

66	Plug 15" Pipe	EA	1.00	\$1,828.30	\$1,828.30	1.00	0	\$0.00
67	Cut Hole in Concrete Box	EA	5.00	\$550.00	\$2,750.00	5.00	0	\$0.00
68	Concrete Collar	EA	16.00	\$650.00	\$10,400.00	16.00	0	\$0.00
69	Sewer Service Conflict	EA	3.00	\$350.00	\$1,050.00	3.00	0	\$0.00
70	Hole Modification in Box for Skewed Pipe	EA	2.00	\$350.00	\$700.00	2.00	0	\$0.00
71	Removal of Steel Culvert	LS	1	\$17,946.00	\$17,946.00	1	0	\$0.00
72	Removal of Steel Railing	LS	1	\$5,076.75	\$5,076.75	1	0	\$0.00
73	Guardrail	LF	75	\$603.22	\$45,241.50	75	0	\$0.00
74	Concrete Headwall	LS	1	\$40,758.96	\$40,758.96	1	0	\$0.00
75	Remove/Replace Concrete Headwall	EA	0	\$9,519.43	\$0.00	0	0	\$0.00
76	Removal of Pipe (Cross Drain) (30" RCP)	LF	0	\$27.00	\$0.00	0	0	\$0.00
77	Storm drain pipe (60" RCP)	LF	0	\$589.27	\$0.00	0	0	\$0.00
78	Storm drain pipe (36" RCP)	LF	0	\$386.07	\$0.00	0	0	\$0.00
79	Drainage Structure Conflict Box 12' x 22'	LS	0	\$34,643.14	\$0.00	0	0	\$0.00
80	Traffic Signs/Barricades	LS	0	\$2,500.00	\$0.00	0	0	\$0.00
81	Mobilization	LS	1	\$7,801.00	\$7,801.00	1	0	\$0.00
82	Adjustment of Catchbasins (CB-01)	EA	4	\$1,000.00	\$4,000.00	4	0	\$0.00
83	Remobilization Price Adjustment	LS	1	\$11,889.45	\$11,889.45	1	0	\$0.00
84	Removal of Steel Culvert Price Adjustment	LS	1	(\$4,674.70)	(\$4,674.70)	1	0	\$0.00
85	Guardrail Price Adjustment	LF	75	(\$220.21)	(\$16,515.50)		0	\$0.00
86	Concrete Headwall Price Adjustment	LS	1	(\$26,561.91)	(\$26,561.91)	1	0	\$0.00
87	Traffic Control Rebates	EA	31	(\$150.00)	(\$4,650.00)	31	0	\$0.00
* - New	* - New Item		Project Cost Increase (Decrease):				(\$2,330.83)	
			ct Amount:	Current	\$964,630.66	Revised:		\$962,299.82